FHAIRTHZZED | HR—DLELET L ZERCETILEE
ey T EHM DOIRFEEFEREIRR @mss2a%)

'ﬂ:«mvt\*
AR
C Iméggﬁmgﬁﬁuqkiﬂ ) llllllllllllllllllllllllllllllllll
R5 R4 =5 R5 R4 1
VAN Sk I\ = 4
X% 1~128[1~128] (43| = X% 1~1281~128| 48| =R
Tl & J0 #2 2| 103| 59| 44| 746| : |F iE L # £K|14,191|12,147| 2,044| 16.8
HEIRE % 4 2 2[ 100.0 BESREE | 3,595(2,641| 954| 36.1
=W ok A A 4 1 3] 300.0 Bty 413 325 88| 271
RYIRESE 8 6 2| 33.3 FMEIEE( 1,377 1,415 -38| -2.7

BAEE BARE 6 9] -3|-333
BABE 7 gl -1[-125 BEAEE | 561 569 -8 -14
FERRA 1 1 — EFEREA | 210| 184 26| 141

YSRSERR

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

X4 R5 | R4 i
1~128[1~128 | %4 3K

FRENEEL 343| 234 109| 46.6

WELE(HM) [87,992|68446[19546| 28.6

R5 | R4 R
1~128|1~128 | %48 3K
RN 1 1
WEZEGFA) | 2000 32| 168|524.1

X REEOEEHBICES
X WERETOMEMEREALBME

gUEEEEEEEEEEEEEEEEE)
"ssssssssmssEmEnEn

D‘;%/L%@,ﬁ& SN NN NSNS S NS NSNS EEEEEEEEEEEEER

R5 | R4 IR
1~128[1~128] (43| =
x & [1072[1012] 60[ 59
 xt & [1,325/1332] -7| -05
# %  |[2397|2344| 53] 23

R5 | R4 18R
1~128[1~128] (43| =
F xR 3 6] -3[-500
=M xR 3 6] -3|-50.0

B # 6] 12| -6/-50.0

>:< ;1%&(;¢$$uT®%t :IIIIIIIllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
X EHlHOLED, BRFOMILFERVENT, TERZEDHREFELH LERTREOLVVEREFEET)

SHM6&£2A18,
LEREZERZLRLTIIIFRERY R I
ZHDFXSI3—INEEFETT !
BEFOOHBO " HDFI " NEIGETEINE ! ?
FYBLAOTHYET DT, #LEIFED !
BEIL SR ICHRILTLIEELY,

SRRER 5L

Dr7
FRERYR
OTOMO POLICT

LBIRERAL
ERRTEMTFR

XIBRMOMIEZLTYEETT .



